LSN 13   LAB 4,             MA476.

Fire Control Panels are the computer interface for the MLRS rocket launcher.  They cost $80,000 each, and fail often.   A sample of 18 failure times is provided.  We are going to analyse failure times.

1. Add the stats and plots packages:  with(stats); with(plots); Using the data from Lsn12, and the describe[mean] and describe[variance] functions, find the mean and variance of the sample of FCU failure times.

2. Using the PlotEmpCDF(data) command, plot the empirical data’s CDF.

3.  Using the maple command  solve({f1 = a, f2 = b});  find the method of moments estimate for the parameters from the following distributions:  Exponential, Weibull, and Gamma

4.  Using the display command, overlay the plots of the empirical data with each hypothesized model.  Which fits the best?

5.  Two companies are trying to improve the FCU.  They each give a sample FCU for you to test.  Company A’s FCU failed after 101.20 hours.   Company B’s failed after 241.1 hours. Is either of these brands statistically significantly better than the existing brand?

This is a test of significance….  Use your model’s above as the null hypothesis.  Calculate the probability of getting a test statistic this extreme or more extreme for each company and use that as your Pvalue.













